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1616-2 16 16 3.175 32 53 10 105 48 42 45 38 M6 A2 1512 1995
* 20202 20 20 3175 39 62 10 108 55 bH0 55 46 M6 A2 1659 2464
2520-2 25 20 35 47 74 12 11 65 60 6B 49 M6 A2 2106 3422
2525-2 25 25 3969 47 74 12 112 67 60 6.6 56 M6 A2 2481 3851
3232-2 32 32 4762 58 92 15 14 82 74 9 68 M A2 3585 6071
4040-2 40 40 635 73 114 17 17 100 93 11 84 M6 A2 5778 11753
50502 50 50 7938 90 135 20 21.5 125 112 14 92 Me6 A2 8819 19241
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j400.3 (14 4 |23 (#1568 10 40 40 45 37  MB T3 684 792
14053 14 5 3175 32 50 10 45 40 45 38 M6 T3 1013 1056
16053 16 5 3175 24 54 10 42 44 45 40 M6 T3 1049 1144
20053 200 5 3175 40 60 10 47 50 45 46 M6 T3 1181 1496
25053 25 5 3175 43 67 10 47 55 55 50 M6 T3 1320 1936
25103 25 10 4762 60 96 15 75 78 9 72 M6 T3 2250 2772
25104 25 10 4762 60 96 15 97 78 9 72 M6 T4 2881 3695
32103 32 10 635 67 103 15 78 85 9 78 M6 T3 3775 5877
32104 32 (10 635 67 W3 15 97 B5 9 78 M6 T4 4834 7835
40104 40 10 635 76 116 17 100 96 11 88 M6 T4 5399 10074




